Find dy/dx by implicit differentiation.

(11x + 2y)1/3 = x2
Find dy/dx by implicit differentiation.

(x + y2)10 = 7x2 + 2
Find an equation of the tangent line to the graph of the function f defined by the following equation at the indicated point.

(x - y - 1)3 = x; (1, -1)

y = 
1

Suppose the quantity x of Super Titan radial tires made available each week in the marketplace is related to the unit-selling price by the following equation where x is measured in units of a thousand and p is in dollars.


How fast is the weekly supply of Super Titan radial tires being introduced into the marketplace when x = 7, p = 72.5, and the price/tire is decreasing at the rate of $5/week? (Round your answer to the nearest whole number.)
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Find dy/dx by implicit differentiation.

x2y1/2 = 8x + 9y3
The demand function for a certain make of ink-jet cartridge is the following where p is the unit price in dollars and x is the quantity demanded each week, measured in units of a thousand.

[image: image4.png]+6




Compute the elasticity of demand when x = 6. (Round your answer to two decimal places.)

Find dy/dx by implicit differentiation
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